


































See4.2
21 la Yes theconditionsoftheMeanValueTheorem aresatisfied fr is continuous

anddifferentiable sinceit is a polynomial
b fc2IE 3z6 t ftx 2x

Solve ffa a e toobtain c I theuniquepoint intheinterval
Cit27where fcc equalstheaveragerateofchange off on f1,2

22 Ia Yes theconditionsoftheMeanValueTheoremaresatisfied fr is continuous
anddifferentiable sinceit is a polynomial

Cb ftp.o 0
I f cx 3x 4x Tofindpoints

where f Ic 3T 4c 1 solve 0 3E 4et i 13c l c D
Therootsof thisequationare 3ande however we

require a cat So the only solution is c Is
23 Ia No the conditionsrequiredbythe MeanValueTheoremare

notsatisfied Although f is continuous it is notdifferentiable
at o

24lal Noi this function is neithercontinuousnordifferentiable
at t

25 Ia Yes the exponentialfunction is bothcontinuousand
differentiable

b k 101 e e l f ex Wemust find a

sackthat e e e l Theuniquesolution is hCeN




